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G.L.(m) 0.000
G.L.(m) | -3.500
G.L.(m) |  -0.500
G.L.(m) | -1.500
G.L.(m) |  -3.500
q KN/ 10.00
q kN/m? 0.00
No \
5 s ) )
G.L.(m) | G.L.(m) N/ | (k)
1] 0.000| -1.000 7.0 18.0 9.0| 25.0| 12.5
2| -1.000| -1.500 3.0 15.0 6.0/ 00| 0.0
3| -1.500| -3.500 3.0 15.0 6.0/ 00| 0.0
4| -3.500 | -21.000 3.0 15.0 6.0/ 0.0/| 0.0
o ‘ @ | ako
vy | vy | oe.L.ny | CKVmY (kN
1 0.0 0.0 0.000 0.0| 19600
2 20.0 0.0 -1.000 40.0 8400
3 20.0 0.0| -1.000 40.0 8400
4 20.0 0.0 | -1.000 40.0 8400
No N
s s QD) )
G.L.(m) | G.L.(m) N/ | (kN
1| -3.500 | -21.000 3.0 15.0 6.0/ 0.0| 0.0
L ‘ Q| aEs
vy | gy | oe.L.qny | CKVmY | (kN
1 20.0 0.0| -1.000 40.0 8400
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(G.L. -3.500)m
F 1.200
Z(m) 1.160(G.L. -4.660)m
D(m) 1.392(G.L. -4.892)m
Y(m) 0.595(G.L. -4.095)m
(m) | 3.000(G.L. -6.500)m
(m) | 3.000(G.L. -6.500)m
o
6.500m
0. 000 0..000
.06 =
7.71 o
7. 71 =]
11.36 e
5. 40 =
7.65 -
7.65 =
o
o
e}
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—3.500 - 11. 25 20. 00
~= 40. 00/ & I1.25 20. 00 =
o / Lo o
= / SN «
_ / 112.86 [ A 61 S
46. 96 / \[4866 | 1. 61 S
<
(G.L. -4.660)m
Ma Mw(kN.m/m ) 180.61 | Pa(kN/m ) 72.94
Mp(kN.m/m ) 181.34 | Pp(kN/m ) 50.44
Mp Ma Mw 1.0
Y m 0.595
Mp Y
Y Mp Pp
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< 44,50 / < 12,60 —. 07 ©
0.595(m) 0.750(m)
m (G.L. -0.500)m
m (G.L. -4.250)m
m 3.750
Mmax kN.m/m 28.13
m 2.076(G.L. -2.576)m
Smax kN/m 23.85
m 3.000(G.L. -3.500)m
RA KN/m 23.08
RB KN/m 23.85
d max m 0.0025
m 1.875(G.L. -2.375)m
3)

d 01 862 da

d
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. o 4
o1 = iEra
52
62 R K
o2 62 2
0 a
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G.L.(m) -0.500
Y m 0.750
12 G.L.(m) -3.875
L m 3.375
P kN/m 57.56
w P L kN/m?* 17.056
E x 10°kN/m’ 2.000
51 | m'/m 0.00017400
S E— 0.450
01 m 0.0018
kH kN/m® 2018
B m 1.000
A BxY m 0.7500
02 K kHx A kN/m* 1514
R wxL 2 kN/m 28.78
02 R K m 0.0190
o2 52 2 m 0.0095
) 01 62 m 0.0113
1 2 G.L.(m) -2.188
da m 0.300
————— o
P
No h p P
6L | m) | kit KN/m
1 -0.500 | 0.500 7.71 4.77
-1.000 11.36
2 -1.000 | 0.500 5.40 3.26
-1.500 7.65
3 -1.500 | 2.000 7.65 38.90
-3.500 31.25
4 -3.500 | 0.375 31.25 10.63
-3.875 25.46
2z 57.56
_ BH —34
kH = nkHo ( 0.3 )
n 1.00
n 1
kHo 30cm
kHo = 0'13 aEo
Eo (kN/m?)
a
No h a Eo kHo kH kHx h
G.L.(m) | G.L.(m) m kN/m? kN/m? kN/m? KN/m?
1 -3.500 -4.250 | 0.750 8400 28000 2018 1514
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No h a Eo kHo kH kHx h
G.L.(m) | G.L.(m) m kN/m’ kN/m® kN/m® kN/m’
z 0.750 1514
kH X kHx h >h 2018 kN/m?
BH 10.0(m)
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No(n)
No(n)
No h pw
GL(m) pp pa 2 p
(m KN/ KN/ KN/m KN/
1 0.000 | 0.500 0.00 4.06 0.00 4.06
-0.500 0.00 7.71 0.00 7.71
2| -0.500 | 0.500 0.00 7.71 0.00 7.71
-1.000 0.00 11.36 0.00 11.36
3| -1.000 | 0.500 0.00 5.40 0.00 5.40
-1.500 0.00 7.65 0.00 7.65
4| -1.500 | 2.000 0.00 7.65 0.00 7.65
-3.500 0.00 11.25 20.00 31.25
5| -3.500 | 0.750 40.00 11.25 20.00 0.00
-4.250 4450 12.60 7.07 0.00
6| -4.250 | 0.143 0.00 0.00 0.00 0.00
-4.393 0.00 0.00 0.00 0.00
7| -4.393 | 0.267 0.00 0.00 0.00 0.00
-4.660 0.00 0.00 0.00 0.00
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No Li , T
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G.L.(m) | G.L.(m) | (m) (kN/m) (kN/)
1 0.000 -1.000 | 1.000 18.0 18.00
2 -1.000 -1.500 | 0.500 15.0 7.50
3 -1.500 -3.500 | 2.000 16.0 32.00
z 3.500 57.50
3)

c 20.00kN/m?
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:L = 2.000(m)
« ) M27(A = 459.0mm)
)
T =Rax L = 26.20x 2.000 = 52_.40(kN/ )
T: KN/ )
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TX10°
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n=1
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| cm'/m 8740
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@
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:E = 2.000x 10°(kN/m?)
A a
B 1.00
0.45
( ) | 0.45
( ) 0.60
3.2.2
€y
1.00/B
1
(G.L.-4.250 m)
h . )
Cletm | ot n | o) [ LE8G% [an et
2| -1.000 | -4.250 | 3.250 0.00 45.00 3.250
1| -0.500| -1.000| 0.500 25.00 57.50 0.319
b3 3.750 3.569
2)
1.00/B
o N o ) N 1.00
%zh@ﬁﬁﬁ%&ﬁﬂ%myF@Hﬁm%——ﬁ—
1. 00
= G.1.-0.500 - —— = G.1..-2. 775 (m)
0. 439579
h . )
Clotm erom| n | ec) | SEG) w i)
2| -1.000| -2.775| 1.775 0.00 45.00 1.775
1| -0.500| -1.000| 0.500 25.00 32.50 0.785
b3 2.275 2.560
3)
Ldmin
Ldmin = Z hi cot a + = hi cotZ p =3.569 +2.560 =6.129(m)
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Ld =6.129(m)
Ld =6.129(m)  Ldmin =6.129(m)...
B
Ldmin = 6.129(m) B
B
B
, [KE-B 2609. 8X1000. 0X 107 B
B = = - — =0. 439579 (m ")
4ET o 4X2.000X10°X8740 X 107X 1. 000
kH = 2609.8(kN/m?)
= 1000.0x 10°(m)
= 2.000x 10°(kN/m?)
= 8740x 10°(m")
( ) a = 1.000
G.L.-0.500(m) 1/  2.275(m)
BH \
kH =7 kHo(—)
0.3
n : ( 1.00 )
kHo: 30cm
1
kHo = |[—— | aEo
53]
Eo: (kN/m?)
a:
BH 10.0(m)
1 2 kHXh 5937
— DOFEIFH DY) kH = = = 2609, 8 (kN/m?
3 i D s 5 o7E (kN/m?)
No h o Eo kHo kH kHx h
G.L.(m) | G.L.(m) m kN/m? kN/m® kN/m® kN/m?
1 -0.500 -1.000 | 0.500 19600 65333 4710 2355
2 -1.000 -2.775 | 1.775 8400 28000 2018 3582
b2 2.275 5937
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3 0. 439579 (m) S ERANE (m)
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(G.L. -0.500)m
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2.50
B (m) 0.439579
= /B 5.687(G.L. -6.187)m
(m) 5.687(G.L. -6.187)m
O
5.987m
@ B
B =0.439579(m™)
3.2.4
D
1)
H 26. 20
Mmax = 0.3224— = 0. 3224 X ———  =15.5b
B 0. 543380
H:
H = Rax secB Cl )
2) ( )
T 7T
Lm = = =1. 445
43 4X0. 543380
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B m* 0.543380
H kN/m 26.20
( ) h m 0.000
Mmax kN.m/m 15.55
) m 1.445(G.L. -1.945)m
Smax kN/m 26.20
( ) m 0.000(G.L. -0.500)m

2B
D

2749. 5X1000. 0X 107

B
B
. 4\/1&1-3: J
4ET o 4X2.000X 108X 8740X 10°¢X 0, 450

=0. 543380 (m™)

kH = 2749.5(kN/m*)
= 1000.0x 10°(m)
= 2.000x 10°(kN/m?)
= 8740x 10°(m*)
( Ja = 0.450
2)
G.L.-0.500(m) 1/ 1.840(m)
BH \ ¥
kH = nkHo|——
0.3
n : ( 1.00 )
kHo: 30cm
1
kHo = |——| aEo
59
Eo: (kN/m?)
a:
BH 10.0(m)
1 2 kHXh 5060
— DOFEFH O kI = = = 2749.5 (kN/m’
3 HiPH D h 310 (kN/m")
No h a Eo kHo kH kHx h
G.L.(m) | G.L.(m) m kN/m? kN/m? kN/m’ KN/m?
1 -0.500 -1.000 | 0.500 19600 65333 4710 2355
2 -1.000 -2.340 | 1.340 8400 28000 2018 2705
2z 1.840 5060
(©))
H
=— =0a
2ET o B°
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- 15 -

B m* 0.543380
E x 10°  kN/m’ 2.000
1 x 107 m'/m 8740
a | - 0.450
H kN/m 26.20
( ) h m(G.L.m) | 0.000(G.L. -0.500)m
0a m 0.300
" 26. 20
2ETa 87 2X2.000X10°X8740X10°X0. 450X 0, 5433807
6 =0.010(m) & a=0.300(m)... OK
3.2.5
@
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:SY295
YA x 10°(mm°/m) 874
R I — 0.600
A % 10°(mm*/m) 153.00
)
M N S
x 10°(N.mm/m) x 10°(N/m) x 10°(N/m)
15.55 0.00 26.20
®
M N
o = + — = oa
o 7 A
o : (N/mm?)
o a: (N/mm?)
;-
A
15. 55X 10" 0.00Xx10°
o = -+ - =29.64 (N/mn") = 0 2=270 (N/mn’). ..
0. 600X 874.0X 10 153. 00X 10
4)
S
T =— = rta
A
L (N/mm?)
T a: (N/mm?)
26. 20X 10°
= ——— =1.71 (N/mm®) = =150 (N/mm®) . . . OK
© 7 153.00X 10° (N/mn') = = a=150 (N/mn)

OK
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€Y)

@

®

150% 75% 6.5% 10
:SS400
:0 a = 210.0(N/mm?)
TXL 52.40X 2. 000
M = = = 10. 48 (kN. m/m)
10 10
M: (kN.m/m)
: (kN7 )
L: (m)
~MX10°
ZX10°
o : (N/mm?)
o a: (N/mm?)
Mo (kN.m/m)
zZ : ( 115x 2cm®) 2 1
10. 48 X 10°
o = —230>< 0 =45. 57 (N/mn”) = ¢ a= 210. 0 (N/mm®) . . .

OK

FORUMS8
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